s 3.64 = 3.55 W 150 . 143 2.67 vy 3.64 ”
i 11 Tl T T 1l {
BALKON BALKON
:ﬁ i — = 5 — ﬂ..=ﬁ
)r }r I 1 1 I 1
4 0
o ]
ai N
%
%) WOHNEN WOHNEN J BAD SCHLAFEN ] WOHNEN
o= b= co. 16 gm ca. 16 gm ca.4gm ca.l2gm co. 16 gm
[ =]
o
oo oo
- — 0O 0o [mE -
— —
(48]
W
b
Tp)
= SCHLAFEN SCHLAFEN
= ca. l4gm ca. l4gm
o™
D e ; T : 7 — & | —
I 1 I 1 I 1 I 1 I 1
o
| 2.41 Ll 467 L L 4.67 LL 2.41 L
A A r A 2l — A
| 335 150 | an | Ll  an L 1so |l 3.35 L
21 L A A i ' 2

Cin Aufgang mit drei 2—Raum—-Wohnungen
mt Je ca. 40 bzw. 4/gm Wohnflache
HousTtyp: AD/



